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Calculator is allowed

Choose the correct answer from those given

(1) Ify =vZsecx,thenZ=............ atx =-
dx 4
1 -1
— 2 S— -2
! ® e} @
X
(2) lm[1+;] = e
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(3) If the function f where f(x) = x3 — 3kx , has a critical point at x = V3,

then the value of k equals ..........

@ -3 ® 2 © 1 @ 3
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) If 3x+y3:4,then%= .............. aty =1
@ -1 ® 1 © 3 @ -3
I In1+4x)_

(6) XI_FI'(I) " e
@ 4e ® e* © 4 @ -4
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(7) The interval at which the function f where f(x) = x3 — 12x + 3 is

decreasing is.............

@ R-[-22] ® 1-2,0]

© 1-2,2] @ R-1-2,2]
(8) [8sinxcosxdx=......ccceenvviinn.n +C

@ —2cos2x ® cos2x

(© —2sin2x d sin2x
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7x

(9) Slope of the tangent to the curve of the function f where f(x) = % el

at the point ( 0,21-7—) 1S oo,

@ zero ® 1 © 17 @ -1
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(11) If ,[ 4dx =16 , where k is a real number, then the value of the constant
K
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(13) The absolute maximum value of the function f where

f(x) = 2x3 — 6x + 35 inthe interval [-2, 2] equals ...............

@ 31 ® 35 © 39 @ 63
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(14) Area of the planar region bounded by the curve of the function
f where f(x) = 6x% , the x-axis and the straight the line: x =1

equals ............ area unit
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(15) The inflection point of the function f where f(x) = (x — D(x* +x+ 1)

® (1,0 ® (0,1)
© (-1,0) @ (0,-1)
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(16) Volume of the generated solid of the region bounded by the straight
line y = 3x , the y — axis and the staright line y = 6 revolves a

complete revolution about the y — axis =............. cubic unit

@ 3m ® é6m © 8r @ 18n
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(17) If y = sinxcscx + cosx, where x € ]O,EE[then T3

--------------

@ —COSX @ COSX @ —sinx @ sinx
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(18) The capacity of an empty vessel is 400 cm?®, water is gradually poured in it

at a rate 2t cm?3 /sec , where t is the time in second, then the need time to

fill this vessel=............. sec

@ 20 ® 40 © 200 @ 400
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19) Ify = 3e¥°+% then 2= ...
dx
@ pxer’+? ® 3ex*+9
© 3xex*+? @ gex+?
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(20) The value of the third derivative of the function f where f(x) = x* — 2x3 + 11
At the point (1,10) is .............
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